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o VPHW50

<?xml version=" D" encoding= UTF-8" 7>
<Report xmins="http:/ / xml.kishou.gojp/ jmaxmll/ “xminsjmx= "ttp:/ / xml kishou.go.jp/ jmaxmil />"
<Control>

<Title> </ Title>

<DateTime >0XX-02-1 Z0 £2:00Z</ DateTime>

<Status> </ Status>

<EditorialOf id & </ EditorialOffice>
<PublishingOffic & < PublishingOffic &
< LControl>

<Head xmins= http:/ / xml kishou.go.jp/ jmaxml1/ info mationBasisl />"
<Title> </ Title>
<ReportDateTime>20XX-02- 12T1 2 20 +9M O/ ReportDateTime>
<TargetDateTime>20XX- 02- 12T1 2 D0 +9M 0/ ¥argetDateTime>
<ValidDateTime> @XX-02-1 Z1 80:00+ 0:® 0/ ¥alidDateTime>
<Eve tiD/>
<InfoType> < InfoType>
<Serial> 1/ Serial>
<InfoKind> < InfoKind>
<InfoKindVersion>1.0 0</ InfoKindVersion>
<Headline>
<Text>

< ext>

< Headl ne>

< Head>

<Body xmins= "ttp/ / xml kishou.go.jp/ jmaxml1/ body/ meteorologyl/ *

< Body>

< Report>


http://xml.kishou.go.jp/jmaxml1/
http://xml.kishou.go.jp/jmaxml1/
http://xml.kishou.go.jp/jmaxml1/informationBasis1/
http://xml.kishou.go.jp/jmaxml1/body/meteorology1/




o VPHWS51

<?xml version=" D" encoding= UTF-8" 7>
<Report xmins="http:/ / xml.kishou.gojp/ jmaxmll/ “xminsjmx= "ttp:/ / xml kishou.go.jp/ jmaxmil />"
<Control>

<Title> < Title>

<DateTime>20XX-02-1 Z0 £2:00Z</ DateTime>

<Status> </ Status>

<EditorialOf id & </ EditorialOffice>
<PublishingOffic & < PublishingOffic &
< LControl>

<Head xmins= http:/ / xml kishou.go.jp/ jmaxml1/ info mationBasisl />"
<Title> </ Title>
<ReportDateTime>2 BX-02-12T1 2 20 +90 O/ ReportDateTime>
<TargetDateTime>2 BX-02-12T1 2 D0 +9@ 0/ ¥argetDateTime>
<ValidDateTime>2 BX-02-1 Z1 80:00+ 0:® 0/ ¥alidDateTime>
<Eve tiD/>
<InfoType> < InfoType>
<Serial> 1/ Serial>
<InfoKind> < InfoKind>
<InfoKindVersion>1.1 0</ InfoKindVersion>
<Headline>
<Text>

< Text>
<Information type = ">
<tem>
<Kind>
<Name> < Name>
<Code>1 <Code>
<Condition> < LCondition>
</ Kind>
<Areas codeType=" ">
<Area>


http://xml.kishou.go.jp/jmaxml1/
http://xml.kishou.go.jp/jmaxml1/
http://xml.kishou.go.jp/jmaxml1/informationBasis1/

<Name> < Name>
<Code> 2 6000 €adde>
</ Area>
</ Areas>
< ltem>
</ Information>
<Information type =
<ltem>
<Kind>
<Name> < Name>
<Code>1 <Code>
<Condition> < LCondition>
</ Kind>
<Areas codeType="
<Area>
<Name> < Name>
<Code> 2 6100 €adde>
</ Area>
</ Areas>
< ltem>

</ Information>
<Information type =
<tem>
<Kind>

<Name> < Name>

<Code>1 <Code>
<Condition> < LCondition>
</ Kind>

<Areas codeType="

<Area>
<Name> < Name>

<Code> 2 6101 €ade>
</ Area>
</ Areas>

< Item>

</ Information>



<Information type = ">
<tem>
<Kind>
<Name> < Name>
<Code>1 <Code>
<Condition> < LCondition>
</ Kind>
<Areas codeType=" ">
<Area>
<Name> < Name>
<Code> 2 6010<0Code>
</ Area>
</ Areas>

< Item>

</ Information>
<Information type = ">
<Jtem>
<Kind>
<Name> < Name>
<Code>1 <Code>
<Condition> < LCondition>
</ Kind>
<Areas codeType=" " —
<Area>
<Name> < Name>
<Code> 2 6200 €adde>
</ Area>
</ Areas>

</ ltem>

</ Information>
< Head ne>
< Head>
<Body xmins= "ttp/ / xml kishou.go.jp/ jmaxml1/ body/ meteorologyl/ *
<Warning type=" ">
<ltem>
<Kind>

<Name> < Name>


http://xml.kishou.go.jp/jmaxml1/body/meteorology1/

<Code %< Code>
<Status> </ Status>
</ Kind>
<Area>
<Name> < Name>
<Code 26 0 0<OCode>
</ Area>
< ltem>
< \arning>
<Warning type=" ">
<ltem>
<Kind>
<Name> < Name>
<Code %< Code>
<Status> </ Status>
</ Kind>
<Area>
<Name> < Name>
<Code 26 0 0<1Code>
</ Area>

< Item>

< \arning>
<Warning type="
<ltem>
<Kind>
<Name> < Name>
<Code %< Code>
<Status> </ Status>
</ Kind>
<Area>
<Name> < Name>
<Code 26 0 @<1Code>
</ Area>

< Item>

< \arning>
<Warning type=" ">



<ltem>

<Kind>
<Name> < Name>
<Code %< Code>
<Status> </ Status>

</ Kind>

<Area>
<Name> < Name>
<Code 26 1 000<Code>

</ Area>

< Item>

< \arning>
< Body>

< Report>



